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FIG. 1: Feynman diagrams for the three-point function. Squares represent the nucleon operator

at times t and 0. The diamond stands for the axial vector current at time t0. Circles represent a

vertex insertion at an intermediate space time point, and an integration over this point is implicitly

assumed. The solid and dashed lines represent nucleon and pion propagators, respectively.

Pluggin everything together we obtain

C3,a = ig

A

2|↵̃|2e�Mt (31)

Obviuosly this is equal to ig

A

times the LO result for the 2-pt function. Thus, taking the
ratio RLO = C3,LO/C2,LO we finally find

RLO = ig

A

. (32)

B. Nucleon-pion-state contributions

1. Generalities

The nucleon-pion contribution to the 3-pt function stems from the diagrams in figure 1.
These diagrams are obtained if two NLO parts of either the interpolating fields (fig. d) or
the axial vector current (figs. b and c) is used. In addition there are diagrams involving one
or two vertex insertions.
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